AT R RE R

= ZEREAEREEMHDL-C) MERTIEIHAR
(PFE 48 #F)
BN FLEII:IIZI%{I\

JIEL [ 7 1 Pl (CHER ) A1 H [ 2 24K B (CHOD) 2 AL 22481 Je , S & BERR RSN . BRALIR
RS E S, % LDL. VLDL. FLEERCH B s R 1 pRA%, Rk #tE 5 HDL-
PR R AR AR o BT R, 7E55—2P )R MR LDL. VLDL. FLAERR 5 7% %) f it
T BRI S A& Was &, 1R =20 R H R AL 22421 ) CHER. CHOD, &
T4y B HAB G B 11 B 0 5 HDL-JH & % . BI R F AL 3248 4 i) CHER {44 18 [56 1 166 7K
i 2B U SR B (FC), FC 7E CHOD 1E R A AR Fi 4-TH S0 B AT H202; 458
5 4G GG RS i N AR AT RS B, LAE S46nm Kb RRAEIR G, BT A
Il 546nm AEWROGAE RIFT45 4 HDL-C & & .

=\ RFAERNAES SEH:

WAL HA TRAFEER HE

WA — | WK 27mLx1 M | 4°CLRA%

WA= B 9mLx1 4oCIRAF

PREdn  | VAR 0.1mLx1 32 | 4°CIRTE | #RERRE Y 1.19mmol/L.

= FERLEEFI A m:
AR REETE. ImL B LL A OBt lem) ARG, Kis. ZBE. B
OFL BT, 2RI

M. &ZEREEREEEMHDL-C)ZEMNE:
BIIERNSCIG BNE R 2 MERMFNE, THEARERIER, BESLERIE, Bt
HARFMIXFRER!

1 FEAHIE
@O LA

FREXZ) 0.1g HAFEAR IR F, I ImL 48, #H47UKIBAI3E, 12000rpm, 4°C
B IR ES O 10min, B IS WA .

[GE]: BEMEAR, THRBEALRE (2): EBERML)A 1: 5-10 BIELGIBHTIREL
@ 0/

SeUSCER M A B IR B O N, BRI BT BXZY 500 740 B BRI 1mL
LT, 7 A 4T T BT (UK, TR 200W, B8 75 3s, [A]BE 10s, B 30 X); 12000rpm
4°CHE L 10min, B EIE, EIK BRI,

[GE): Z#miEAE, TRRAE/MEEE (109: EEGR (mL) A 500~1000: 1 BIELHIHEITIREL.

@ WAAEA: PEE IR AR EHN T, A5V 500 J5 B s A

@ MIEAEA: W IS M MEFEA, W] B R AR R A 5 A
EHIMLEREAT S IEA S BB, BRERMAKH G2 g, 7]
JEHL 200uL MiE+200ul L8, | RIEAIJLIK, T 8000rpm, 4°CHYE &0
Smin, HU_E3ER AR




AT R RE R

2. AL
@ 0] WAYEeEE A 30 min, AT KT 546nm, ZEIEKIEE.
@ A RAREZRE = (25°C), 1F ImL BEFESELAM (648 Tem) FURIIN :

s N PR THE
WA (UL e & B0 R — 70
FEA 10

PRk 10

ZEIHIK 10

WA — 540 540 540

WR2T, 37°CHFE Smin, T K 546nm b E2EUS B R OGE Al

A 180 180 180

2], 37°CHFE 10min, T 546nm AL HUEE R OGIE A2 AA=A2-Al.

GE] LENEEN A2 EXT 1, WEEHARZEHITHRRE, BREH D ERANLREMITE.
2BAA ETFAA o, ATEMMAGR VIGNEENHEA SN AENZIBKIEE 20pL
FEL, MAF—MZRERE; fERTA LouL, FIMN 10l ZRIEKANTT) ; &M
FEHREW (QEE 02g REZ), MKTH VI MW HRAAREFHITHE.
f. HBRIUTE:
1. R
HDL-C(umol/g F)=(C #FXV2)X(AA u-AA ) HAA e-AA .. ) +(WXV1+V)xD
=1.19%(AA 1-AA . )+(AA i-AA )~ WXD
2. AR A
HDL-C(nmol/10%cell)=(C #5#EXV2)X 103X (AA 1u-AA .. ) (AA 4-AA ..)+(500xV1+V)xD
=2.38%(AA -AA L )H(AA L-AA L )XD
3. itk HDL-C & &it5H:
HDL-C(mmol/L)=(C #5#EXV2)X(AA yi-AA .. )(AA 4-AA ..)VIXD
=119%X(AA 4-AA L )+(AA -AA L)¥D
4. IfiE HDL-C & &it5H:
HDL-C(mmol/L)=(C #F#EXV2)X(AA y-AA .. )+(AA -AA ..)+V1x2xD

=2.38X(AA - AA ) H(AA -AA )XD

C #5ifE---1.19mmol/L=1.19umol/mL; VI1---FEAIIAAEFL, 0.01mL;
V2---ARE A IR, 0.01mL; V---F2 BB AR, 1mL;
D---FEREAS S, RAREE A 1 2-—- L35 T A B o O R £ 5
500---ZH I H 5, s W--FERIUFE R &, g.




